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1.

POLITICAL SCIENCE
Paper - II

“Political theory attempts to explain
the attitudes and actions arising from
ordinary political life and to generalize
about them in a particuiar context; thus
political theory is concerned about/with
the relationships between concepts and
circumstances.” Who said this ?

(A) Sheidon Wolin
(B) Alfred Cobban
(C) Bernard Crick
(D) Michael Oakeshott

. The Principle of Difference in John Rawls’

theory of justice as faimess advocates

social and economic redistribution in

favour of

(A) The greatest happiness of the
greatest number

(B) The greatest benefit of the least
advantaged

(C) The least happiness of the least
advantaged

(D) The least benefit of the greatest
number

. “For instance, it is thought that justice

is equality, and so it is, though not for
everybody but only for those who are
equals; and it is thought that inequality
is just, for so indeed it is, though not
for everybody, but for those who are
unequal.” Who said this ?

(A) Plato
(C) Machiavelli

(B) Aristotle
(D) John Locke

1. Al Reid A AwElA
sgclotiigl Pvugt actl sl wat
gRRAA YAl sRalloll YU 52 8
wal anell QA [QRre el
Aot QAtiot 53 8; aM, AwHlA
Rsic Qeucotizl wat Anetl
Aogloll el Aol (A4 7 wd
dsuA & 2w Qe 8 59 2
(A) Acsel cicllot
(B) uEES Slovilal
(C) walls 5ls
(D) HIEsC 25202

2. %dlet Aol ot AeA Rl
ol Rl astadall 2uedl WHlEEs

AR @5 Yoiddugl 12 1A Usl

Sloll Rruaic 52 B ?

(A) Al ay dvami dAsle A3t
Yul

(B) cyrid clletlcAd clslal dj3uiM
GLeL

(C) dydH cllellAdt clsle AydH
Yu

(D) 9j3rin AvAUlel HYTiH AN

3. “GELeRWL dily, g Hietaunl wad
B % U2l WA UHLoldl; wa A
AU o B, UA otul HER oll@ ud
Boull AHlol B Anatl HIZ; el Bl
HiolcltHl AId 8 5 MLl
sl B; % WU B, Udd Gl M2

olld URd % UM B AMelt HIZ”

ui{delet A s & ?
(A) @2l 29 59 (B) ARRecd

(C) Alzaadl (D) ¥&let Clls




4. Which of the following is not a feature of | 4. lA24lef 53] IR yactales] clawl

conservatism ? o2l ?

(A) Value of tradition (A) yau@ste yea

{B) Human imperfection (B) Hteicllat ulRyelcu
(C) Organic society (€) lAsuner

(D) Natural equality - (D) wslds wuela

5. Match List — | with List — Il and select [ 5. €L | a €l 11 WA AN

the correct answer from the codes given R oA AL slsHiell W
below. : FaAlol UdE s3.

List - | List— 1l el | €L
(Concept of Power) (Form of Power) (Ueliofl [Qendot)  (Rells] 2a3w)
a. Behavioural I. Non-decision a. adacal i Qda o ad

making .
b. uef-ardet i QaR
b. Post-behavioural ii. Thought el [Raisg
control
C. uUHE WRadet iii. Quja AQ)
c. Radical iii. Decision cell
making d. ucl-dUsllHs V. Qual/stiot
d. Post-structural iv. Discourse/
§1§%{ :
knowledge
Codes : a b c d
a b c d (A i i i v
(A i i i v ,
B) i iv i i
B) i v @i i
C) iii i v i
(C) iii i v i ©)
D) i i it v ) i i i v




6. Which of the following pairs of Political 6. A% Rcs wa Asudleal
Thinker and ldea of Democracy is Rlau?’ s d <12 QAloj 59
wrongly matched ? Rss W3 D ?

Political Idea of
Thinker Democracy Axslel Rlas Asudlel
(A) J.J. Rousseau — Obedience Qe
to a law one
prescribes to
oneself (A) B % 90 - % B [an
(B) Joseph — Arena of YA
Wel
Schumpeter struggle
among power
seeking (B) =A% — Alsloll Hl Yctall
politicians TRRV(ER Hi2 BlgR Ul
intent upon 52695 A 5124
winning the 2 Aute] A
people's vote
(C) Robert Dahl — Characterized .
by a tendency (C) Auésieet — kM auu.xdeeuélm
to degenerate Uctel Aq el
into ‘soft ‘(‘{?H“n"u
despotism' AURAAUR" H
and URaldd aq
developing A dAqdll gld 8.
into the
tyranny of the
majority ) Aol S AT RATCE]
(D) C. B. Macpherson — Possible 553t s ,
only through ALl SRRIHI
participation in @%@rﬁlﬂaﬂ K4
a non-market A ded O,
social

environment




7. Match List — | with List — I} and seiect
the correct answer from the codes given

below.
List -1 List -1l
(Author) (Books)
a. Bell Hooks i. Who's Afraid of
Gender
b. Betty Friedan  ii. The Feminine
Mystique
¢. Judith Butler iii. Feminism is
for Everybody :
Passionate
Politics
d. Luce lrigaray iv. The Sex Which
is Not One
Codes :
a b ¢ d
(A) i i v i
B) i iv i i
€ i i v i
(D) iii i i v

8. Given below are two statements, one
labelled as Assertion {A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : Ecocentrism is a
conceptual perspective which brings
out the anthropocentric basis of
knowledge and everyday existence.

Reason (R) : Anthropocentricism is a

philosophical form that regards nature

alone to possess intrinsic value, while all

other beings hold instrumental value.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct expianation of (A)

(B) Both (A) and {R) are true, but (R) is
not the correct expianation of (A)

(C) (A)is true, but (R) is false

{D) (A) is false, but (R) is true

7. AtEl 1 A €l 1 wd Ha
Ual o{lA weu Slsumiell
ULAL wallel UME 53

el | OTRAR|
(Quis) (Y2cts)
Ca QAd g5 i qUu UFYS
UG o5
b. Al steset ii. ] Fllolot 12dls
c. e il Fullofland oo
oleHR 52 Radwd :
o Qslé&a Wcldlsxy
d. ey ooy iv. [0 Asu |
8 olle clot
SlsY ¢
a b ¢ d
A i v
| i v i i
€ i & v i
D) ii i i v

8. ollA A sAl WAAL & Fuiell NAs
Qutet(a) B uA ollagsizal (R) B.
o{lA el ssuHiell
AU AUUHE 5.

Quist(a) : ‘BHALH  As
Qendettcs URYeARE  sliot
ol ARlel  BRA<al
‘WU RAEl” UAAGSRAA B,
51RQL (R): ‘UePNUALLRARW A5
s 3u B FAGHA B Jysui
% Al Yt B 1R oitflell vtl
o Wl AR e A B,
sls -
(A) (A) B (R) viol AU & wal
(R)2A(A) ol w2l unyl B,
(B) (A) mat(R) 6l WAl B ul
(R)A (A) ol a2l uraycllotell,
(C) (AU & U (R) WIg .
(D) (AWl B U (R) 3y B.




9.

10.

11.

12.

(D) Categories

Which are the three thematic features of
post-modernism ?

(A) Scientific Realism; Progress to
Utopia; Grand Theory

(B) Certainty of Truth; Historical
Continuity; Social Authenticity

(C) Hyperreaility; Intertextuality;
Incredulity towards Metanarratives

(D) Singular Historiography; Absence of
Suspicion; Centrality of Reason

Which theory of politics emphasizes
consequentialism and hedonism ?

(A) Libertarianism

(B) Utilitarianism

(C) Classical liberalism
(D) Liberal feminism

Which of the following metaphors is
employed by Plato in his book

Republic ?

(A) The chariot of justice
(B) The ship of state

(C) The cart of politics
(D) The hand of fate

In which work does Aristotle describe
his subject matter as ‘political science’
and characterizes it as the most
comprehensive because it aims for the
highest human good ?

(A) Nicomachean Ethics
(B) Politics

(C) On Interpretation

9. Uoj-vllyEASclUEA AR

U520 el sl B ?
(A) dsuls curctaals;yaRay
AR sl (A5 et Rsid

@®) sl [lldd; AdsiRs
Alctel; AHE®Bs YHLBl Al

(C) URL-cllRel; BoeR- 2srguclld];
Nl sUlell U [Qaid of Sl

D) Asadl SlAsld  wew
Ao At sell waeuey; QAsd
Jodlal eal &g,

A%5120L1 520 Rgict

‘sog(lsQoellaucllon’ va

Rellopt’ U2 MR Y3 B ?

(A cle@laua{lom

(B) GuAbBlclaue

(C) yllwe Gelraug

(D) Gelraugl sudlaue

Aell Yds Ruledls’ Wi vA2ln
Sl Al seu 3Usel yloL sAL D ?

(A) oUA Y

(B) AxUc| cAslRl

(C) 2A%s1We] S

(D) tasl stu

Aottsll YrelsHi ARRed

Aot [QAnrcrda Aslal @stiot’
a3 add B wa Aa Aell ay
acoudl swud B sk ¥ A
adl Hiotella B Akale]
A8t WU & ?

(A) {laABauet Bells

B) s
(C) ot Bozfl2Uot

(D) Beodly

10.

1.

12.




Z8- 15

13.

14.

Which of the following political thinkers
distinguishes between a minimal
constitutional order wherein subjects
live securely (vivere sicuro) and a
fully constitutional regime which is
characterized by freedom and participation
of the community (vivere libero) ?

(A) J.J. Rousseau

(B) John Locke

(C) J. S. Mill

(D) Machiavelli

Which of the following statements about
the political thought of John Locke are
true ?

Choose the correct answer from the
codes given below.

a. Locke’s First Treatise is in
agreement and in support of
Filmer's arguments.

b. Locke offers the conceptual basis for
the natural rights tradition.

¢. Locke’s civil society aims to protect
and preserve freedom.

d. Locke understood labour as one of
the natural rights of man.

Codes :

(A) a,bandc
(B) a,candd
(C) b,candd
(D) a,band d

13.

14.

olAUSL 52 A Q125 w24l QS
YA 28l A3 Acll ey citzella
il (QAR WsyR) vyl
o0l et calaRell | reld Ll
U Wyl (Al

QA2 flAA) c2A Ae 52 D 2

(A) 2. %. 32

(B) *8lal Cls

(C) ®. A M

(D) Alsaudcll

% 8lol Alsotl [QutRell e (1A Aoy}
sall (Aol WUl & 2 oAl
slomniell aA walw ude 53

a. sl ‘s8¢ Ay Beazel

eclAletivHEAH] B wa Aol
A_AUd B

b. uslds wELstAl you@st w2 As
(Qeudstiats wR Y3 ud 8.

C. cAlsell olididls aMLw widaledl 28U
U ARl s2clof L2t AN B.

d. s siHal Als uislds stz dil3
ol 8.

Slo -

{A) a,bustc
(B) a,c wa d
(C) b,cuqld

(D) a,b ua d
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15.

16.

Given below are two statements, one
labelled as Assertion {A) and the other
labelled as Reason (R). Choose the
correct answer from the codes given
below.

Assertion (A) : Hegel characterized
the family as the space of particular
egoism.

Reason (R) : Hegel held an idealised
view of the family whereby he associated
it with unity and a sense of fulfilment.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is faise
(D) (A) is false, but (R) is true

Which of the following is not true about
Marx’s theoty of alienation ?

(A) Systematic forms of alienation did not
exist in pre-capitalist and religious
societies

(B) Systematic forms of alienation
are only a feature of class divided
societies

(C) Systematic forms of alienation are
greater in contemporary capitalist
societies than in pre-capitalist
societies

(D} A future classless society will
not contain systematic forms of
alienation

15.

16.

ol AL sULUAHIAS Attt (A) &
ua ol s (R) B, (Al

Slsuiell ALAwcllol UHE $3U.
Qewot (A) : 3AA URBcRA AR wdale
Hizell aroant 8% olud 8.

Quet (R) : 3t WRarR, W2 As

wtedlatel (Qauztzid & fuid

URaural Ascizial AHU R
ellclell U 3 B,

sls :
(A) (A) Aa (R) il AU B U (R)
A (A) ofl AR Auyl 8.

(B) (A)ua (R) ol AAU S u(R)A
(A)ofl A ameycl =tell.

(C) (A) WY B U (R)WE B.
(D) (A)vllg BUR (R) ALY B.

ol Uble 52 Hibust AU
diRgld M2 WY el ?

(A) Acllaagiet’ «il usldgzet a3l
yd-ySlalél ot wldls i
URAHL ABlell.

‘Aclan2lot’ ofl uglduRetl 2ezut A
aololt 2t Qe drHsle]
el 8.

‘Ac{laRot ol ualduetl a3l
A HSleuel weul yd
ySlatel Al sl crlR
YHeHL 8.

alfArtoll col(Adlat MM HL
‘Acllaaatot ol ugldaet
23 o3 QL.

(B)

(©)

(D)
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17.

18.

Which of the following is not employed
by John Rawils in his work, A Theory of
Justice ?

(A) Refiective Equilibrium

(B) Original Point

(C) Principle of Maximin

(D) Veil of Ignorance

Match List — | with List — ll and choose

the correct answer from the codes given
beiow.

List -1 List—11
{Author) (Book)
a. G.W.F. i. Phenomenology
Hegel of Spirit
b. Karl Marx ii. The Eighteenth
Brumaire of
Louis Bonaparte
¢. Hannah iii. Lectures on the
Arendt History of Moral
Philosophy
d. John Rawls iv. The Promise of
Politics
Codes :
a b c d
(A) i i iii iv
(B) i i iv i
(Cy iii ii i iv
(D) i ii iv iii

17.

18.

Aetiyrds ‘ol [l 205 Rl
8l A ofl Aotinigll 52l cllctoll

Yol o8l sl ?
(A) lsAséla sflcllclleflan

(B) 2wacd WSe2
(C) Rorlluct 205 AsHlot
(D) Qe ¥§ Sl

LEL | A AEL 11 Al AA 8 waA
o1 20t Stsuiell wAwae
yUe 52l

ALEL -1 L€l — i
(Auls) (Yeris)
a sy 1 AARAAY
Az Me
b. std Wi i, B wgdleal
Y8R g

g8 ollstwie

C. &l AWIos ii. AsU et

@ el
uls e
Baad
d. %loat iv. (@ yldly A s Aclldisu
A
5\5%1 :
a b c d
(A) i i i iv
B) i i v i
(©) i i i iv
(D) i i iv il
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19.

20.

21,

“My own sex, | hope, will excuse me, if
| treat them like rational creatures,
instead of ... viewing them as if they were
in a state of perpetual childhood, unabie
to stand alone.” Who said this ?

(A) Harriet Taylor

(B} Ann Tickner

(C) Hansa Mehta

(D) Mary Wollstonecraft

“In a country well governed, poverty is
something to be ashamed of. in a country
badly governed, weaith is something to
be ashamed of.” Who said this ?

(A) Karl Marx

(B) Confucius
(C) Mao Zedong
(D) Viadimir Lenin

Which of the following constitute the
Purusartha — the four ultimate goals of

human life ?

(A) Dharma, Karma, Artha, Moksha
(B) Dharma, Kama, Artha, Moksha
(C) Nyaya, Shanti, Dharma, Karma

(D) Svadharma, Swaraj, Swabhiman,

Swayam

19.

20.

21.

“g Al Ay 8 5 wdl Qeiell el
Hal &HLSRA %Al § Axa [@asalla
well «d3 g, « 3. A A3,
H & A sl Asaell QU]
A2 3, Bl Wcllell Ul U Gellet

8l ¥ wl [Qutet 51 537
(A) ¥laz 2R

(B) et (25012
(C) &l Hddl
(D) A3l cAlcRelotsise

‘WsyARd Eani, odloll As A HHo1s
u2oll 8l 8. s wRuot A WRd

g, AR s ARMAels Usell Sl
8. wl [t 8o 59 2

(A) s Husd

(B) Slosy@an

(C) HRAL BShat

(D) cctt€lllz Qellot

ol AHI gt Yuisloll ues
B - @ Wclolell UR AlAN
“eU B ?

(A) o, 5, wel, Wsy
(B) wal, std, 8], Hlsu,
(C) U, 2ilq, waf, s

(D) AL, Ry, MLt
a2AY
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22,

23.

Which of the following text is authored
by and/or associated with Kabir ?

(A) Karma Yoga

(B) Mithiya

(C) Bijak

(D) Bhakti Marg

Match List — | with List — Il and choose
the correct answer from the codes given
below.

List -1l
(Book)

List -1
(Author)
a. Sri Aurobindo i. The Two Plans

b. Pandita Ramabai ii. An_Honorable

Heritage
c. Swami iii. The Human
Vivekananda Cycle
d. Deendayal iv. The Power of
Upadhyay the Mind
Codes :
a b c d
(A) iii i v i
(B) i ii iv i
{C) v i ii iii
(D) i iii i iv

22.

23.

lAuiell 53 selalA AWdd B %
Auell W AsouAd & ?
(A) s+ alat

(B) {lellan
{C) ollos
(D) @fsa uil

el 1 A 28l 11 A Bw A8

A ol AL slsHiell
ALALAUGL UHE 53,

ALEL =1 el -1
(Aws) {Yicis}
a. 3ll e i tll g et
b. Wl e i, Do P01
&3z
c. waill @Astoie i Hl gust
FTEER]
d. glecaum iv. el war
Gultau2L wllg l
LSS
slsd
a b c d
(A) i i iv i
(B) i it iv i
(€) iv i i ii
(D) i i i iv




24. Given below are two statements, one
labelled as Assertion {A) and the other

labelled as Reason (R). Choose the correct
answer from the codes given below.

Assertion (A) : Gandhi disagreed with
Ambedkar in 1932, after the Communal
Award of the British Government granted
separate electorates for the depressed
classes.

Reason (R) : Gandhi believed that only
a change of heart on the part of caste
Hindus would remove untouchability;
Ambedkar believed in the guarantee
of legal rights and redress, backed by
political power.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R} are true, but (R) is
not the correct explanation of (A)

(C) (A)is frue, but (R) is false

(D) (A) is false, but (R} is true

25. Which of the following statements are
true about Gandhi and his work

Hind Swaraj ?

a. Gandhifirst met Savarkar in October
1906 before he wrote Hind Swaraj.

b. Gandhi wrote Hind Swaraj on
board the ship Queen’s Castle
while travelling from South Africa to
London.

c. In Hind Swaraj, Gandhi argues
that it is not enough that Britishers
leave and Indians adopt a British-
styled society.

d. Gandhi first wrote Hind Swaraj in

Gujarati, which was banned by the
British Government.

Codes :
(A) a,bandc (B) b,candd
(D) a,candd

(C) a,bandd

24. 1A vt suclHil As Qs (A) D
wal oty sRel (R) B. o1 et
Slouniell w2l walol ude 5.
Quist(A): "SlRfelct AE" GULE LE3 M)
(@221 U252 £[AA HB HUAAEL HAER

Hsoell 2uslt 571 @R Uuedl otitll Widls 52
A WM A L.

SIRQL(R) :alitll Vg Mistcl &clt ¥ G
sildotl Be2llett seaulRadadll o
UWYRA AL oltofE U, >AR WiASHR
AW ATl gl AHEA  slofoll
ARSI WA elE-[RAauruel
WLARIHL LGl Al &t
53.52{ :
(A) (A) wal (R) ¢l UL B wat (R) A
(A) ol Al gl .
(B) (A) ol (R) oidd 1l & el (R)A
(A) ofl uell gl ot
(C) (A)AY B U (R) Wi§ B,
(D) (A) Vg & U (R) U3 B.
25, itllot e Ry’ ol dedl LAASow
sail [Qeuell i B 7
a. AHABe 2Ry cuejd udall
sl BllsAlH 1605 HIHAH.
b. elalguvuldsiell clset ¥¢ 2dct ‘G
S ollHal AL UR LA (ot
LRAY VR
c. Be R Hi LR A eclletzy
531 5 oflZl2l R B9l 2L
ugfl Rl [@de aotell A
Aol d ualid o2l
d. autll A @& Ry yurat
sl v val [@dlal Hrs2
detl uR yldoiu ysel sl
slsu :

(A) a,b uwelc
(C) a.bausld

(B) b, c A d
D) a,c 2uad




27.

1

26.

“People who have no hold over their
process of thinking are likely to be
ruined by liberty of thought. If thought is
immature, liberty of thought becomes a
method of converting man into animals.”
Who said this ?

(A) Jawaharlal Nehru

(B) Muhammad Iqgbal

(C) Rabindranath Tagore

(D) E. V. Ramasamy

Which of the following pairs of Political
Thinkers and Quote on Nationalism is
wrongly matched ?

{A) Sri Aurobindo — “Nationalism is not
a mere paolitical
programme,
nationalism is a
religion that has
come from God.”

(B) Jawaharial — “If people thus

Nehru become united
into a coherent
and well-ordered
society having
common traditions
and aspirations....
and all their interests
inter-twined into one
identical whole -
then such people
living as children ....
may be termed a

‘nation’.”
(C) Rabindranath — “This government
Tagore by the nation ....islike

a hydraulic press,
whose pressure is
impersonal, and
on that account

completely
effective.”
(D) Bal Gangadhar — “The point is to
Tilak have the entire

control in our hands.
| want to have the
key to my house,
and not merely one
stranger turned out
of it.”

26. “FAlSle] Wcllell Qa2 yBat u?
@einwl o2l Al duRs il
Wl 48 13 8. %l QR Yuddl
otefl Slcdl Al dARs izl QK
yrellHi uRaldd seusll ugld owoll
o2 B ul Qi B 59 ?

(A) FAUSRCLA old3
(B) HEHE B5OUA

(C) ellosetiad 2190
(D) ¢. <l 0l

27. %5l [QuRSl sl AALE URs
AHoll W AARRLA BAScl ofl Aotl S5 sl
53 wllg B ?

(A) sllaRlde — “urzale A WA A
A%l siisu o2l
UG s Ul 8 ¥ BUR
dsell el B,

(B) %gtéec—ua — “Fofl youlds2 ua

&3 HBWRA A5 UMl B

ddl clsl %l As Yol
U YUl Wy

As6L YRl ... el AMell
Wl Bl As REA
AAA YHIYAML
e L cll uiclt Alsl
A WSl B @ B
AUA R 55 B
(C) Reclloiotlel — “3g g2l Al URSIR
20R As slodlells Aa Bell
8 Bo eoiel [Klet-2io1d
8 wal Aa 512
USRS D"
(D) cadipusr - HA A B yal Raagl
Qe ALUGLL sl 8l Hal
HIRL el il SR B
wol FHigl 1al As ol
S EREER R
of UUAUHL 21



28.

29.

30.

Who authored the book Nehru's India :
A History in Seven Myths ?

(A) Sunil Khilnani
(B) Faisal Deviji

(C) Taylor Sherman
(D) Douglas Allen

“We should destroy all those who are
hurdles to a life of self-respect of a nation
or country .... we should remove the
obstacles in the path and become free
by attaining self-respect.” Who said this ?

(A) B. R. Ambedkar
(B) Pandita Ramabai
(C) Hansa Mehta
(D) E. V. Ramasamy

Match List — | with List — If and select
the correct answer from the codes given
below.

List -1
(Author)

List—1i
(Book)

The Politics of
the Governed

a. Rajeev Bhargav .

b. Partha Chatterjee ii. Modern South
India
¢. Rajmohan ifi. Tradition,
Gandhi Tyranny and
Utopias
d. Ashis Nandy iv. Between Hope
and Despair
Codes :
a b c d
(A) i i iv i
(B) v iii ii i
(C) i iii iv i

(D) v i i il

28.

29.

30.

510 'o1d3u sl A Rwedl st
Actot HleAl Yrets cluef B ?
(A) yolld Wlctatiall

(B) 3ud tum
(C) 2R et
(D) SAUCUY Wetel

“Bull A & Ealall wit@Hlotoll Wl Hi
Gt 3U §lat AHall [Qettal 52
RSB, WUB UMl USAH WA
£ 5cll HEA ol W@l Ancll
Yool ag AU ul Qe NA s 2
(A) ofl. R, wiclss

(B) Ut 210U

(C) &L Hacll

(D) &5.<l. 20l

A€l 1 o el 1 o(lAA RS wA (1A
UL slsHiel e ude s,
udl -1 el -1
(Aus) (Yreis})

a. Awd ewdla i. tll Welldisu
As YU dlclolos
b. yal A2y ii. Hlsel WG
8oB 21
c. AHlgat il iii. 2o, dlrsll
Wos Y1y
d. uelly ol iv. ofledlet Sy
Aos SR
Bls¥ -
a b c d
(A) i i iv i
(B) iv ii i i
(€) i ii iv i

(D) iv i i ii
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31.

32.

Given below are two statements, one
labelied as Assertion {A) and the other
labelied as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : According to Gellner,
nationalism is primarily a political principle,
which holds that the political and the
national unit should be congruent.

Reason (R) : Gelinerfocussed primarily on
the role of political parties and economic
forces to come to his conclusion.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) {A) is false, but (R) is true

Which among the following is not a
feature of fascism ?

a. Antagonism to freedom of speech
b. Glorifying the naticn

¢. Promotion of a totalitarian politics
d. Glorifying individual rights

Codes :
(A) a,bandc
(B) aand b
{C) onlyb
(D) onlyd

31.

32.

ol WAl sauAuiell As [Qetet (A)
8 sl ofly sl (R) B. «{A

slsrHiell uRA waol UHE s3A.

[Qttet (A) : AcotRetl Ml YA, AZAE
A Yual s Axsla Auuid & |
Ag A B 3 AU A AL AsH

A53Y slail MU,

520 (R) : 2 cllRQ 4R U@ual
HEZ AEot? HuAu3W A Usl ua
UEds onell GMst Uz ot 3 59,
85U
(A) (A) UA(R) vial AU & WA (R)
A (A) ol w2l Wl B.
(B) (A) ¥A(R) vl AUl B URL(R)
A (A) ol WAl anoydl ool
(C) (A) WY B U (R) Wi¢ B.
(D) (A) Wig & Uq (R) U3 B.

oA Uslsj 53 sllacs] cagl otell ?
a. wolcasAedl et @AY
b. A%2e] HEHLISA
c. Aalfsd AwsR0 Yllsot
d. casotd wu@stRe] HBHSHt
slsY !
(A) a, b ualc
(B) a w4l b
(C) wua b
(D) W d
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33.

35.

The poiitical cuiture where individuals are
aware of the outcomes of the government
but do not participate in the processes
that result in policy decisions is called

(A) Subject Political Culture
(B} Parochial Political Culture
(C) Affective Political Culture
(D) Participant Political Culture

. Match List — | with List — Il and select

the correct answer from the codes given
below.

List -1 List -l
(Books) (Author)

a. The Endof i. Friedrich von
Ideology Hayek

b. Political Man ii. Francis

Fukuyama

c. The End of iii. Seymour Martin
History and Lipset
the Last Man

d. The Road to iv. Daniel Bell
Seridom

Codes :

a b ¢ d
(A) i i it v
(B) iv i i i
(C) i i iv i
(D) ii v i i

Who among the following scholars
discussed political decay while discussing
political development ?

(A) Samuel P. Huntington
(B} Lucian Pye

(C) A. F. K. Organski

(D) Walt W. Rostow

33.

34.

35.

(D) A s6e3) Aeldd

Al Awsla Asld ¥ Bui cAGARA
UBReAL uRRUHEl cuds B ug RN
YBauulnl ewot ol Al ®
o{l[A-(Avats Relani uReud 8, AR 9
sdalHl WA B 7

(A) "uoBse" A2 Usld

(B) QAstauc Axf dzsld

(C) "udsdla AU Azsld

(D) "wilMfluee A¥sla sl

L€l | A 2El 1 (AU AN WA oA
BB slsHI Aeraler UdME s3I,

L€l — 1 el -1
{Yreis) (Qwis)

a. tl Aos WS i. 3538 dlat
assl2cdly slals

b. Qcllélsey Aot i slaRA g5A0U
c. tl Aos g i N2 widlet
Bedl Aestll  dlude

Gl Mol
d. tfl3As g udsH iv. Had A

554 :

a b ¢ d
A i i i v
(B) iv il i i
©) i i v i
)i v i

sl [ Asiaell uul sean

UA A Uhloll sl Qata Al
Astefl uAl 59 2

(A) At UL §doteet
(B) st W
(C) . Us. ¥, 238l




36.

37.

38.

39.

Who among the following is associated with
the idea of ‘dependent development’ ?

(A) F. Cardoso
(B) A. G. Frank
(C) O. Sunkel

(D) C. Furtado

Who among the following scholars has not
worked on civil-military relationship ?

(A) Carl von Clausewitz

(B) Samuel P. Huntington

(C) Morris Janowitz

(D) James Bryce

Which of the following statements is
incorrect about the modemization theory ?

(A} Modemization is a highly differentiated
political structure with diffusion of
political power and authority into all
spheres of society

(B) It is a framework to understand the
development in Western societies
(C) 1tis ethnocentric

(D) Itis a framework to study the
non-Western societies

Who among the following scholars
in recent times has classified party
systems on the basis of competition for
government ?

(A) Peter Mair

(B) Alan Siaroff
(C) Arend Lijphart
(D) Peter Lange

36.

37.

38.

39.

D Adlef B viad@d [@Asi ol
[Qotcotl WA AsouAg B 2

(A) Ag. sisial

(B) 2 %. 55

(C) ¥l Y¥at

(D) L gelsl

13 Aol s [Agld o3 5-Aesl
Aol uR s otell 59 2

(A) sld dlet sclncllan
(B) yuct UL dloest
(C) W3 Bollden

(D) B ol

"uiyellglsWal RAttid” diedl (A

Udle] 53] [Qutot 3 otell 2

(A) wiyellflsrgt A G {ld
Qe AxwS2A AU B BH
UHESeAl AHLH A0l A5l
Ul AUEsR Yyl s B,

(B) Q Walteel AHBLHL [Astuat
UM o] A5 HOW B,

(C) A 'BuULAAlS 8.

D) A Blot-wsucl WA veA
sct Hida] Moy 8.

AB ARl ououH ol Uslett s {Qgital
yaryouellal a8 Hi2 el ;UR
coflga 531 B 2

(A) le: AR

(B) Aot Raa1A %

(C) ¥Res Alwste

(D) dle? cledl
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40. Arrange these books in the chronological

41.

order (year of first publication) in an
ascending order and choose the correct
answer from the codes given below.

a. The Stages of Economic Growth :
A Non-Communist Manifesto by

W.W. Rostow
b. The Passing of Traditional Society

by Daniel Lerner

¢. The Great Transformation : The

Political and Economic Origins of Qur
Times by Karl Polanyi

d. Bureaucracyand Political Development
by Joseph La Palombara

Codes :

(A) a,b,d, c

(B) c,b,a,d

(C) a,b,¢c,d

(D) ¢, b, d, a

Who among the following realist thinkers
identifies “three images of politics” 7
(A) Hans J. Morgenthau

(B) Kenneth Waltz

(C) Thucydides

(D) E. H. Carr

40. o{lA £30AA YReASlA UBCL Bof5HML

41.

&AL (Aot YU ysialet il 1osed)
uA oA e StsuHidl wA
Aol URE §3L.

a. fl Ry s sslllls N : A
ollot-511J(Ae Noll¥3R2 : s06y Socyy
ARl

b. «fl waflor as 2Slatetet Naadl:
3R Gol?

c. tl Je gleustifalel : tl Qelldlsa
et 8B8lellls Aot s
ez 2 : sid WetteRll

d. eAsA Bes WAElse Sacuios:
MNAS Gl WOlIoRL

Sl :
(A) a,b,d, c
(B) ¢,b,a,d

(C) a,b, ¢, d
(D) ¢,b,d,a
ol AetHiell sl alrcaclel Rds

«gf]l SR s WA o[ W
UL B ?

(A) &d 3. WIlog
(B) B e
(€) yllstesla
(D) &. AU, 82




42.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Choose the
correct answer from the codes given
below.

Assertion (A) : According to dependency
theory, underdevelopment is an
inevitable feature of intemational political
economy.

Reason (R) : The developing countries

procure raw material at the cheap rate

from developed countries.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R} is false

(D) (A) is false, but (R) is true

. Which of the following statements are

true of constructivism in International
Retations ?

Choose the correct answer from the
codes given below.

a. Constructivists see the arena of
international politics as naturally
determined.

b. Constructivists regard the world as
humanly constructed and therefore
unchangeable.

c. Constructivists go beyond material
reality by including the effect of ideas
and beliefs on worid politics.

d. Constructivists hold that meanings

are not fixed but change depending
on the ideas and beliefs of actors.

Codes :

(A) aandb (B) bandc

42. o wdc suHiell As [@tuet (A)

B el oflyy si20 (R) B. <A 2
SloaHiell WA saust UE 53,
[Qtlet (A) : URlAC oot Rigict Yol
veUAsid A AidAlA AwdiaL
velaae] wblad caw 8.

slReL (R) : [@suelld 2l st et

Ul €2 @AsRA 2l wAd yia
52 B,

BlsY -

(A) (A) ¥l (R) ol WAL B wa (R)
R (A) ol wll Wil B.

(B) (A) e (R) tlol AU B UBL(R)
A (A) oll Al quoycdl el

(C) (A) WY B U (R) Wi¢ B.

(D) (A) W& © U (R) Y B,

Al Aol Ul 52UAAN AiARAE2

UADHL UcUHsALEAl deelul
A B 7 (2 vuden SisHiel
URW weitol UAE 5.

a. RUALMHSAEIA AidRAR2A
A%S1R0L At aeillds A «isst
AE oA B.

b. 2uolleHslElA QA Hisiclla
A 2wAg 28 & s Al
el asldg otell Ax 2R B.

c. WUelleHsElA [Qa A5
GUR QAN wA HeAARDLA
WU WA sdla ellds
cleclldsciell 2 all 8.

d. RUcUHsAUERA g WA B ¥
tdall oisfl o2l Al ud
el Aot uestell [Qu
Ul Mol YU CLEAL B,

slsu -
(A) aua b (B) b ua ¢

(C) candd (D) aand d iCi Cc ua d iDi aua d



44.

45,

46.

Which country became the newest
member of the United Nations in the year
2014 ?

(A) East Timor
(B) South Sudan
(C) Kosovo

(D) Eritrea

Neo-realism means

(A) an attempt to ignore the unpleasant
realities of the world

(B) an attempt to restate the basic ideas
of realism in a more structural form

(C) a claim that international society is
basically orderly and peaceful

(D) a claim that individual human nature
is central to an understanding of
international politics

Which declaration serves as the ASEAN's
foundational and guiding principles,
outlining its aims and purposes ?

(A) Manila Declaration
(B) Jakarta Declaration

(C) Bali Declaration

(D) Bangkok Declaration

44. o 209 Hi 52l B AYSAL ARell
Alell oA ueRA 0ol el ?

(A) St [@AAR
(B) UG YElat
(C) sl
(D) Aglau

olc] dlxcladale Aed ...

(A) glausll guelas
cAlRet{As AR
walBldlell Yol

(B) circtalaiesil HOed QAR
ay AAet IUHL Yot
AV ALetl Yoot

(C) ADELA & UidRARL
Uy A g Add
AR U 2 B.

(D) A etcll ¥ widAR2A
RAWSLRQLol YHsAl M2
Hiotclloll 2ectoiel ol
8.

53 MUY, dell b2l wal
dcfullal Aetdl A,

@2t otot] 2UQAA W
Holeds Reaidl a3 st
528 7

(A) Hellett 3sAR9et

(B) onstdl SsARet

(C) oucll 3sAaet

(D) dasls 3scRaet

46.




47. Match List — | with List — |l and choose
the correct answer from the codes given

below.
List -1 List -1
(Author) (Book)
a. Robert O. Keohene i. World Order
b. John Mearsheimer ii. The Theory of
International
Relations
c. Kenneth Waliz iii. The Tragedy
of Great
Power
Politics

d. Henry Kissinger  iv. Neorealism

and its Critics

Codes :

ab ¢ d
(A) i i v i
B)i v i il
(C) iv i i i
(D) i i i v

48. Who one of the following leaders
mentioned “Confluence of Two Seas”
in Indian Parliament 7

(A) Joe Biden

(B) Shinzo Abe

(C) Narendra Modi
(D) Anthony Albanese

47. €l § ol uumell il
A 531 e oA AL
slsauxiell A walol ude 53

ALEL - | 21111
(QAus) (Yrds)
a. Aué AL i aed wlsR
Sullget
b. adenpausuz 1w fladl lls
o2 2 Aol
AAsien
C. 3ol Ale2d i,
WAl su
d. 3otdl flaller  iv. o{lAARaucllosn
Wo5 BEYU
s : sldlsu
ab ¢ d
(A) i @i v
B)i v i i
) iv i i i
Oyi i i i

48. o{lAounHiell s Al etRctell
HUEHL “SlosCBlod W
Aoy A 58 & ?

(A) %L efset
(8) Bl 2
(C) otRos HIEL

(D) Aolell uticotellos
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49. Which International Human Rights

50.

51.

Organisation was established in 2006 and
is known for its campaigns against various
human rights abuses worldwide ?

(A) Human Rights Watch

(B) Amnesty international

{C) Oxfam International

(D) Human Rights Sans Frontiers

Which African leader was instrumental in
the formation of the African Union and also
served as the Chairperson of the AU ?

(A) Nelson Mandela
(B) Kwame Nkrumah
(C) Muammar Gaddafi

(D) Haile Seiassie

Arrange the following India-Pakistan
Agreements/Summits in the correct
chronologically ascending order in terms
of their date.

a. Agra Summit

b. Tashkent Agreement
c. Lahore Agreement
d. Simla Agreement

Choose the correct answer from the
codes given below.

Codes :

(A) b ¢ a d
B) b d a ¢
(C) b d c¢c a
(D) a b ¢ d |

49. 53 WUicRAMR2A Hota A{ 512
Aol6et 2005 HIL WU &
U A [ArerRHl [@QRQY st
&s5letl g3 UL WA AAAR
He sl & 2

(A) §Het AT AU
(B) Aadl o2l
(C) BUSRG(H Bo2Ral2UoAd

(D) @Hol AT2U AR Fodl2aal

s U350l Al w35t
Y(A2tetafl UMM ALtLAZU
&cll ual AHA wZ 50t
YlAauotoll Auet ddld ual
Acu 20l ol ?

(A) AR Hial

(B) scuR AslgMis

(C) HuHR dLeLsl

(D) 3 Acul

50.

51. o(lQ WAL - W Bl
5AA/ QR dlzll o Al
AlFluoll BeOIH ULAU UBS S Holl
WSHH dl6dl.
o(lA 2Vl Slsuuiell WA weuol

yig 53

a. wI uMe

b. cllgse AQNoz
. SR VA2

d. Aueu ABQ N2

O

QQ%{:

(A) b ¢ a d

B) b d a ¢

(C) b d c a
b ¢ d

(D) a




52.

53.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Choose the
correct answer from the codes given
below.

Assertion (A) : India’s energy security
challenges are compounded by its
dependence on fossil fuels and the
need to transition to renewable energy
sources.

Reason (R) : India is committed to
sustainable development and conscious
of its geo-strategic partnership with its
partners.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but {R) is true

India’s stance in international negotiations
concerning Intellectual Property Rights
(IPR) primarity focuses on

(A) Ensuring Access to Affordable
Medicines

(B) Strengthening Patent Protections
(C) Eradicating Software Piracy
(D) Limiting Copyright Protections

. Asia-Africa Growth Corridor was

envisioned by which two of the
following countries in 2017 7

(A) China and Russia
(B) India and Australia
(C) India and France

(D) India and Japan

52.

54.

ol & sl AVl B Buiell As
Quet (A) & ual ol s128L (R) ©
1A well SlsHisll AR s
YHE 53
{Aeuet (A) : olRctolt Got YRatsll USSR
Adllat syuet GuR wulRddell Aruc
B wiel el Yoi: Y&l Gxloll Bl drs
atnclto(l w3RauA B.
5128l (R): el ¥ 251G [Asta w2
yldotte 8 wat Aett e(lelA 08
3l Wews Udaeflu w2 ueud 8.
sls :
(A) (A) sl (R} olal UL B ual (R) A
(A) ol wdl wixa 8.
(B) (A) sl (R) ¢iol AU B A (R) A
(A) ofl utAll gl otell.
(C) (A) WY B U (R) Wig B.
(D) (A) Wig B U (R) WY B.

C ol®s Auet sz (IPR) ol deelnl

UidRAR 2 cletend\ Hl el g5l

yafls A dott GUR 3ead B ?

(A) urad Adl earlelt Guaotictell
wWLctdl

(B) Q2o Yreua ot scl,

(C) Ws2AR WaRMla oltyg s2dl.

(D) sflage yaua walltd sl

ARau-2uBst @Qsta 1wl [Qeudst
09941 sal A 2 A saHl
atefl sdl?

(A) Al vial A2

(B) @lRcl Al Apclau

(C) URct A 5l
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55.

56.

57.

(D) Durban Summit

India has a mutual defense co-operation
agreement known as the “Agreement on
Mutual Co-operation and Security” with
one of the following countries :

(A) Russia

(B) Australia

(C) United States
(D) France

During the fifteenth EU-India Summit
held in virtual format in 2020, the leaders
adopted a EU-india strategic partnership
roadmap aimed at co-operation between
India and EU till which year ?

(A) 2025 (B) 2047
(C) 2030 (D) 2050
Under which measure of the Agreement

on Agriculture within the World Trade
Organization (WTO) can India support its
farmers through subsidy without facing
legal challenges, on the condition that it
does not distort trade ?

(A) Amber Box Subsidies
(B) Biue Box Subsidies
(C) Red Box Subsidies
(D) Green Box Subsidies

- In which one of the following NAM

Summits, did India sponsor a resolution
endorsing Palestinian statehood,
advocating a two-state solution with East
Jerusalem as the capital of Palestine 7

(A) Jakarta Summit
(B) Havana Summit
(C) Algiers Summit

55.

56.

57.

58.

ollAsttuiell sau 2at A3 A “<RAolNee
Ulat 122U 8 Bt A RsyREA
A3 U2ruR AeR UESR 5A AL D ?
(A) M

(B) wxgcflan

(C) Yellfes w2

(D) sl

R00H1L wleul HlsHi Al Al del
g-Y-alRd R AssHl AR
g-3-Rd cysicis audlleld AsAy
UUsticall Al AsAuni sa oy yellod
AURA--3 HosRell o 531 & ?

(A) 2025 (B) 2047

(C) 2030 (D) 2050

[Qa carur? otsetell 5B uRell
UMY lloll 585 Bloreuss Yo, siofell
USSR [Qatt, et Aotl Wgclal AeillS)
glRLAER YA Wil #5 8 A arad
cUURS [Auldct a2l 5 ?

(A) A10R ollsy yRASE
(B) ocej ollsu dnR@S]
(C) s olsy v
(D) oflot cllsy ueAS

1A Udlell “otir ol 58 Quz Rssui
Gl A &2l % sl Bl UARRLeAL
ArA-YoUoll 2512 520 A A-A¥Y
Ul G3ctoll (Briald 531 Bui ydBIuan
UA8etell weetoldl dat ?

(A) st lurAss

(B) scuell 1w 68

(C) wcpad iw Ass

(D) sclet ofluz Ass




59.

60.

61.

India is an observer in which one of the
following groupings ?

(A) IORA (B) BIMSTEC

(C) SAARC (D) 10C

Within the framework of the International
Solar Alliance (ISA), which specific initiative
promotes solar energy innovation and
research, fostering collaboration among
member countries for the development
of advanced solar technologies and
applications ?

(A) 1SA Solar Research Consortium

(B) Solar Innovation Network

(C) Interational Solar Technology
Accelerator

(D) Giobal Solar Energy Research
Initiative

Match List — | with List — Il and select

the correct answer from the codes given
below.

List -1 List - Il
(Committee of (Name of the
the Constituent Chairperson)
Assembly)

a. Steering i. Sardar Patel

Committee
b. Fundamental ii. Rajendra

Rights Prasad

Sub-Committee
¢. Union jii. J. B. Kriplani

Constitution

Committee
d. Provincial iv. Jawaharlal

Constitution Nehru

Commitiee
Codes :

a b c d
(A) i i iv i
B) i iv iii ii
(C) i iv ii i

M

b9.

60.

61.

tlct o{lA A4l sau i «(Rlas 8 ?
(A) IORA (B) BIMSTEC
(C) SAARC (D) 10C

Ui QR AdiSetotl HIOHIHL 58
AssU U AR Gosl 2lodtll w12 wal
U edot A VDL AU B dall ueA a2
AR 2500l wUA Aot [Asin
H2 UE5RA Ulcllget AU B ?

(A) 1A AR R Sl

(B) AR BollA2st A2ab

(C) Bo2AAA R S5olAY

AsfleRer
(D) dAHA W2 Aot Ay
sellladlal

ALE] ) ol 2ALEL 11 %SL wal o1 BUACL
Slsuiell A walol UE 53

2l -1 A€l -1
(Oim;eta@uc{l (vikugile] olii)
w)
a. [Raiswel a0 i ARELR UBA

b. HOw@ct UBSWRAAL ii. ABes YALE
Gu-uid

c. ¥ella olarel i % oll. sueuell

al@
d. URBls olurel v, cllgReucd
aR otd3
sle
a b c d
(A) i ii iv i
(B) i iv i i
) it v i

(D) i iii iv ii
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62.

63.

64.

65.

Which of the following statements is
correct with regard to the Government
of India Act, 1935 ?

(A) It abolished dyarchy in the
provinces

(B} It abolished separate electorates for
depressed classes

(C) Itintroduced universal adults
franchise at the provincial level

(D) It created the office of the High
Commissioner for india for the first
time

Which Article of the Indian Constitution
makes the provision for the power of
Governor to promulgate Ordinances
during recess of Legislature ?

(A) Article 123 (B) Article 200
(C) Article 201 (D) Articie 213

How can the number of judges in the
Supreme Court of India be raised 7

(A) By a Presidential Order
(B) By an Act of Parliament

(C) Through a Constitutional
Amendment

(D) By a Notification from the Supreme
Court

Which of the following Committees
constituted by the Lok Sabha, also
comprises of the members of the Rajya
Sabha ?

(A) Business Advisory Committee
(B) Committee on Privileges

(C) Public Accounts Committee
(D) Rules Committee

62.

63.

64.

65.

ot iloe L% B30 Ase, 1935, 2 (1A

Uslo] 52 (Atutet WY B ?

(A) QA WEEls :c? ‘stusl ol utuld
£2 53l

(8) A Al HIZall AN HAER HSO
g2 sal.

(C) A8 WE@s :d? wdBs Yud
UtifElsiz elwa sail

(D) Ad YUH durd ‘ol sMast §2
Bl ol Ugoll 22Ul 5.

Rl olti0ell 585 sAM AXUAUAA
WRAYGeil (AR g12l61 c2EH ABIR

uiscliofl et 200 8 ?
(A) 5614 123 (B) 8EM 200

{C) 5AH 2014 (D) s&H 2143

o cloll a2 WELA AR o020 20 AL
dva 56 A awdl asiu 8 ?

(A) eguldetl UL i1
(B) AUEalL SLAEL GIRL
(€) oiturellal yuly gl

(D) ucllRL WELA el SEReUHl gL

AsUL a2l B AA Usldl 58
AMQAHL A>uU LAl MeD UBLSRA B ?

(A) stladl acussik 1A
@) QAuEsiz uell uRM

(€) @& ua ¥R

(D) Rapdell u@RQ
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66.

67.

68.

(C) a,candd

Questions asked after the question hour
in the House are called

{A) Supplementary questions

(B) Short notice questions

(C) Starred questions

{D) Unstarred questions

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : Usually a vote on account
is discussed in detail and voted upon by
the Parliament.

Reason (R): A vote on accountempowers

the Lok Sabha to make a grant in advance

for a part of the financial year pending

completion of the budgetary process.

Codes :

{A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and {(R) are true, but (R) is
not the correct expianation of (A)

(C) (A)is true, but {R) is false

(D) (A) is false, but (R) is true

Which of the following are matters
on which the Indian Parliament has
the power to modify provisions of the
Constitution by a simple majority ?

a. Alteration of names, boundaries and
areas of States

b. Appointment of additional judges

¢. Abolition of the second chamber of
a State Legislature
d. Administration of Scheduled Areas
Codes :
(A) a,bandc (B) a,band d

(D) b,candd

66.

67.

68.

JJEHL “YUHSL GIE YoMl vl
yglal 9 sdcumi w1 B ?

(A) Y=s usl

(B) g5l-alRuett ysl

(C) ARIBA ydl

(D) wU-RilBc Al

ol e seutalHiell As (At (A) B
uaA oly siel (R) 8. oI wAcl
slsuuiell A walol e 3.

[Qaust (A) : Ao FAQ ‘Qe 2ot
As1602’ AUE gl (Aot wdcuni 2
8 ol doll UR HElol a2 D,
$QL(R) : vl ulsa yil o ue
Sleilal 5128, ‘2 et WsGoe’

dlsuoial otRuslal ciietl s duny H2

WNAI] o2 Ul HI2 @52

AU B,

ﬂSjé{ :

(A) Gial (A) A (R) WAL B Ul (R) A
(A) oll Wl wuxdl B.

(B) olal (A) ol (R) ALA B UL (R) B
(A) ol ull gl 018l

(C) (A) AY B U (R) Wi B.

(D) (A) W& B Uq (R) Wy B.

oflA Uslell 585 ot Aell B ¥ Rl
ARl quea AEl sgudlell

CLEURQUHL 3R&1R sRclloll W(AsIR B ?

a. AUl ollH, UWE wUA [Arcllui
3912 s2al.

b. cleuReell rufleledl Rags s2cll

C. A%t ulRA2)eatt (Bl 38t oliofe
§q

d. B[R [QxctAal adlae

Eﬂéﬂ :
(A) a,b ud ¢ (B) a,b wal d
() ac 2»{ (D) b,c o d
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69. Match List — | with List — Il and select
the correct answer from the codes given

below.

List-1 List—- Il
(Parliamentary (Implications)
Procedure)

a. Division i. Mode of arriving
at a decision

b. Guillotine ii. Concluding
discussion on
demands for
grants

c. Motion iii. Formal proposal
made by a
Member to the
House

d. Point of order iv. Bringing the
debate to a close

v. Relates to

interpretation
or enforcement
of the rules
of procedure/
Constitution

Codes :

a b ¢ d
A)iv v i i
B) i i i v
€ i it i iv
D) i iv i v

70. The Constitution of India divided the
States of India in categories A, B, Cand D
in the year 1950. In this context which of
the following statements is correct ?

(A) The Governor was the executive
head of categories C and D States

(B) The Governor was the executive
head of category D States only

(C) The Chief Commissioner was the
executive head of categories C
and D States
(D) The Rajapramukh was the executive
head of the categories C and D
States

69. el | A ALEL I WA A AR D
AL stouniel wA walol UHE 53,

el el
A yBa) YRA)
a. (Aot i gl ur
ysluallel as
Hot
b. d0Elat i, ez WRell
HiowRluAl wrofl

AL AHA 524,
UL GlRU 2fsal

vPUALHL Al
wUARS Yclal

C. Yrcllcl iii.

d. WeSoe g iv. AU AHAY
€2 U cledl.
v. UBauet@anil,
ANIENE
wteat v
vHAlsQL A
s - Aol
a b ¢ d
A)iv v i ii
® i i i v
(C) i i i v
D)y i v i v

70. Gcloll iUl 1EUOHI eURclell
A%2Qa AR A, B, C uA D Hi
(Qeuwd sal. zu Yed A Usiq
53] [Quiet WY B2
(A) 3ell C et D ol ARA Hi2

A%UUA dnell 51412l a8l ocit.
(B) AW WA el D el A=A
HE2 stAoud adl sl
(C) C ual D Aflowt AU 12 Yu2u
s sloud] asl s

(D) Al C U D ofi A% UI2 AX YUYW
SR aS) sl




T1.

72.

73.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Choose the
correct answer from the codes given
below.

Assertion (A) : The sub-state politics
in India has gained the attention of the
scholars on Indian politics since the
1990s.

Reason (R) : Many Academic Centres

have been opened dedicated to the study

of sub-state politics in India.

Codes :

(A) Both (A) and (R) are true and (R} is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

{C) (A) is true, but (R) is false

(D} (A) is false, but {R) is true

Which of the following Committee was
appointed to identify the creamy layer
among backward classes in India ?

(A) Justice R. N. Mishra Committee
(B) Justice R. N. Madholkar Committee
(C) Justice Ram Nandan Committee

(D) Justice Rajendra Sachar
Committee

Who among the following scholars have
contributed to the study on farmer's
movements in India in a significant way ?

(A) Subrata K. Mitra
(B) Gail Omvedt

(C) T. N. Chaturvedi
(D) Amartya Sen

1.

72.

73.

(D) uHeR] Aot

ol WAl saUUHl As Quist (A)
8 ua olly sRel (R) 8. «(2 e

Sloaniell R ciol UHE 52U

Quet (A) : aecool erasiel

Gu-weflal AwSRA ([QAstelle] taulol

Uis®ct 53 B,

SR8 (R) : GRAML Gu-xfla

A%\l AeAHA Myl

faldls ¥oal vicleMi wteel B,

515U :

(A) (A) vl (R) ool WAL B WA
(R) A (A) oll w2t vuogdl 8.

(B) (A) el (R) ool AL B U
(R) A (A) ofl a2l wnxgcl «tell.

(C) (A) WY B U (R) Wg B.

(D) (A) W& B U (R) 0y B,

ulct aollil Bl Qar’ A ¢
utselt Wiz (12 Uhlell 58 uMlAad
RUAL scUHL ALl &l ?

(A) wdld v, Aot Msw AR

(B) %I IR, Bet, HHAS AR
(C) ¥ Aottt uRQ

(D) %R ABes WA AMUA

(1A Udlett 52 [Agtal euzcnd
Wycltall Ul QN ugcaypl
weill sl & ?
(A) yua 3. B
(B) Ad AqHaAe
() & Aat. uqdel

!



74. Match List — | with List — il and select

75.

76.

the correct answer from the codes given
below.

List -1 List-1l
(Movement) (State)

a. Gorkhaland i. Odisha
Movement

b. Kosala il. West Bengal
Movement

¢. Vidarbha iii. Assam
Movement

d. Bodoland iv. Maharashtra
Movement

Codes :
a b ¢ d

(A) i i v i

(B) i i i v

(C) ii i v i

(D) i v i i

Which one among the following is wrongly
paired ?
(A) The Indian

Political System
(B) The Palitical

Economy of
Development

(C) Democracy in
India

(D) The Success of
India’'s Democracy

Who among the following is related to

the Datit Panthers Party ?

(A) Raja Dhale

(B) Kanshiram

(C) Chirag Paswan

(D) Chaudhary Charan Singh

— Norman D.
Paimer

— Pranab
Bardhan

- Nirja G. Jayal

— Myron Weiner

. Who among the following has authored

books on regional autonomy movements
in India ?
a. Myron Weiner
¢. Amit Prakash
Codes :
(A) a,bandd (B) b,cand d
a, bandc

b. Sanjib Baruah
d. Rajesh Basrur

74. 2AEL 1 A AEL 1 WA A U oA

75.

76.

(C)abudc

WAL SlgAHisll UM el YHE

5. auél | tél 11
(ustam) (32L)

a. JRuAS unam i. 32

b. Sl Ynan i. WEH ooun

c. [@eel unam jii, VUMK

d. dllSlAes AN  iv. HER

S :
a b ¢ d

(AYi i v il

B) i i i v

)i di v i

D) ii iv i i

ol Hiell 53 sy wdl A Ascuni

W] B ?

(A) ] B3 Aclldlsae - oaiet
e Sl ulMR

(B) Ul Qclldlset — Yelol
S5lotl ) 0{tlel
Sacduie

(€) sl sl - o{lrm

%). %l

(D) Ul usAY AUl - HlaRle

slodauy 3zl cflet?

1A Udloj Sl e@ct Roriz et WA
AslAg & ?

(A) A% WA

(B) stelluu

(€) Rt wyast

(D) Wudl uwl Riu

. ol2 U4l 818 w2Rls reuatcc unaAl

(AR Y5l cui & ?

a. HRRAel fletz b, AW K3u
c. uMd usia d. AV 0l
Sl :

(A) a,b ua d (B) b,c uwa d

(D) a cuctd




78.

Which among the following is incorrect

about the ‘Towards Equality’ Report 7

(A) The Report was written by Veena
Majumdar and Lotika Sarkar

(B) The Report highlighted the need for
a woman sensitive policy making

(C) The Report highlighted the issue of
missing women

(D) The Report proposed for reservation

of seats for women in the Parliament
and Legislative Assemblies

. Which among the foliowing statements

relating to the argument of Rajni Kothari
in his work ‘Politics in India’ is incorrect ?

(A) He used a structural-functional
framework to explain the nature of
indian politics

(B) ltdescribed the Indian political system
as working around a ‘dynamic core’
of institutions characterised by the
dominance of the Indian National
Congress

(C) There was dissent from the
peripheries with opposition parties
independent of Congress groups

(D) The emphasis was on coalition
building in Indian politicat system

. Who authored the book, ‘Protest and

Change : Studies in Social Movements’ 7
(A) Stanley A. Kochanek

(B) T. K. Oomen

(C) Ramachandra Guha

(D) Marc Galanter

78. ‘eatfu 5@’ wdaucel AUed

olAmiel o WIg B ?

(A) B vdeuet flon HHER el
Allast 953 vl &l

(B) il AdUA HBARN Y

ddeatllc vl o[Aalett
Pudoell 3dal w1 54

(©) vilas Al Hdael yaa u
WA AL AL

(D) il AUSUA HAUE Vol [Atutetcunl
R 12 AsS el
Avclioll Yreial WL

79. 2%oll Slsl3lell Yads Wcllélsy Bat

gl M wuaHl 213l el
Aedl o(lQ Udlef 53 (Aot W otell ?

(A) elRclolt AwsRAle(l yslda
UMMl AHEL WREUA
— §59telct BfAdHaAl Gualol sl

(B) L YctsHi eliaoll Axsla
youcllsl etrdla uxdla sl
a2l el drenallen oUQalle
¥os-GLOU AW s1ARAA
gallccuni 2udl 9.

(C) 519 g2l Y5 Ao QAL

uall alt slRuMiell weild
¥ saMl wudl

(D) SR et slotaal HER euRctoll
sl youelul o ysauni
el gl

80. o{lAnill 51Q ‘Yleau Wes Ao -

24» 8o ABlad Yol Yds
Aue] & ?

(A) Ratcll V. sulets

(B) 2. . Guet

(C) AMUss Y6l

(D) 5 AAcRR
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81.

82.

83.

Dwight Waldo called New Public
Administration as

(A) New Cathoticism
(B) New Romanticism
(C) New Humanism
(D) New Socialism

Who among the following is not a
protagonist of the managerial view of
Public Administration ?

(A) Herbert Simon (B) Smithburg
(C) Luther Gulick (D) Henry Fayo!

Who wrote the book, “Introduction to the
Study of Public Administration” ?
(A) Woodrow Wilson

(B) W. F. Willoughby
(C) L. D. White
(D) F.J. Goodnow

. Match List — | with List — Il and select

the correct answer from the codes given
below.
List =1

a. Delegation i.

List-1ll
Monitoring
subordinates
Directing

human efforts
towards common
goals

Authority is
revocable

by boss

The orderly

b. Supervision ii.

¢. Co-ordination iii.

d. Leadership iv.

arrangement
of group efforts
Codes :
a b ¢ d
(A)ii i v i
® i i W v
C©)ii v i iii

CEE

81. sclgfe cled) alal %132 adlaea wul
Ad qufd ...
(A) o<l 3a@scue
(B) olcl ANERS clE
(C) otlcll HlotaldlellE
(D) olall uHesallE

82. ollAsuHiell slot Ad2 adlazal

dUASA a5l wHds ol ?
(A) &ole wamet  (B) wlla wot
C) AR 9ds (D) dai3l 3Ae

83. ‘Oodlsslel g W WSl 3llg Ulds

AsMAR A" Yacts S cvef o ?
(A) 4\ (et

(B) sucy ug. Al

(€) Ad. sl. cslefe

(D) ¥s. 2.2 5UG

84. €l 1 ua €l I ol ot 5A Bt

ol 200l stsHiell WA weuol
UdE 52

ALEL | 2L€L Ui
a. drllell i sl o{lAeil
Qugll s Raine
b, tuduw i wyls ceAalsll
YA dR§ Hletd
Yeoilefl E1Raill
c. dHecl i, At Gudl AuRsAl
gl2l € 53 s O,
d. Adect v, WYRSs Yl
e a6l
sls :
a b ¢ d
Aii i v i
B)i i i v
© i v i i
(D) iv i i i
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85.

86.

87.

The informal channel of communication
is also known as

(A) Nerve line
{C) Feedback

(B) Loop line
(D) Grapevine

The theory of ‘Prismatic society’ is based
on which of the following ?

(A) Historical studies of public
administration in different societies

(B) Study of public services in developed
and developing countries

(C) Institutional comparison of public
administration in developed
countries

(D) Structural-functional analysis of
public administration in developing
countries

Given below are two statements, one
labelled as Assertion (A) and the other
fabelled as Reason (R). Choose the
correct answer from the codes given
below.

Assertion (A) : According to Max Weber,
organisation is essentially characterised
by constructive conflict.

Reason (R) : Organisation involves
division of work among a group of
people.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A} and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

85. dta caasloll AlUAURS Aotd o
U2l ollN URL BotalHl 2 B.......

(A} od clefet (B) QU cttfal
(C) AAsAs (D) U cwSst

QoRdls arerol Reic o Actimisl
Aott GUR WURA D ?

(A) [@e - @ wulul nd2 adlaesdl
AsRs e

(B) Qs wa @Qsaelle Tl
oS Acltzdlell WeAY

(C) sl ZaMi wd2 adlazell
Mrausla aumgll

86.

D) @siuellet 2l #d2 adlaee]
oL SlaL-stallcads QAo

oA el sasiiell 215 [Qtuet (A)
8 ual olly stel (R) B. oA et
S5 Hioll AW wellol U™E A

87.
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viaas a AelleHs dunl
ol vl &,

5120 (R) : AISetHL Hietcll U4dl
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SIS

(A) (A) 2ol (R) olol UL & wa
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(€) (A) WY B Udq (R) W& B.
(D) (A) W@ B Ud (R) wy B.
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88. What is the first systematic conceptual

90.

model of human motivation ?
(A) Theory Z

(B) Taylorism

(C) Maslow’s need hierarchy
(D) Herzberg’s hygiene theory

Match List — I with List — Il and select
the correct answer from the codes given
below.

List—| List—1I
(Theory) (Features)

a. Max Weber's i. Efficiency and
Bureaucratic Economy
theory

b. Public choice ii. Internal
theory Accountability

c. Scientific iii. Efficiency,
management Economy and
theory Effectiveness

d. New public iv. Self-serving
management Bureaucracy
theory

Codes :

a b ¢ d

(A i v i ii

B)ii v i i

(Cyiv i i

D) ii v i

Who carried out the systematic study of
‘conflict in the organisation’ ?

(A) Max Weber

(B) F. W. Taylor

(C) Luther Gullick

(D) Mary Parker Foliett

88. Hlolal u@T20UA yuH ugQuzel

89.

VALALHS ool 520 il ?

(A) dladl s

(B) 2cxnH

(C) Ml oll 3R Aol UELosH
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ALEL 1 W AL 1 oll detetl 52 el o1
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ALEL | 24 1
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a. NsuAouRell i, stedaal wa
oAlsfaudl Reia 533

b, & udedllel i wWidRs
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AUl sl
Reid aAls3uél
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a b ¢ d
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| i v i i
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D)ii v @i
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(A) As AeR
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92.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : The Central Bureau of
Investigation is a statutory body.

Reason (R) : The CBI derives its
powers from the Delhi Special Police
Establishment Act, 1946.

Codes :

{(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is faise, but (R) is true

Which of the following programmes
are covered under the National Food
Security Act, 2013 7

a. Midday Meal Scheme
b. Public Distribution System

c. Integrated Child Development
Schemes

d. Vayoshri Yojana
Codes :
(A) a,b,candd
(B) a,bandc
(C) a,candd
(D) a,bandd
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93. Match List — | with List - Il and select
the correct answer from the codes given

below.
List -1 List— I
a. The Companies Act i. 1988

b. The Benami Transactions ii. 2002
(Prohibition) Act

- €. Prevention of Money iii. 2011
Laundering Act
d. Whistie Blowers iv. 2013

Protection Act

Codes :
a b c d

(A) iv i i
B) i ii iv ii
(Cy ii i i v
(D) i v @i i

94. The Central Vigilance Commission was
set up by

(A) Act of Parliament
(B) Constitutional Provision

(C) Recommendation of Santhanam
Committee

{D) Executive Resolution

85. Regarding Indian cyber security, which
governmental agency is responsible for
co-ordinating responses to cyber security
incidents, conducting cyber forensics and
ensuring the security of critical information
infrastructure in the country ?

(A) National Technical Research
Organisation

(B) National Cyber Co-ordination
Centre

(C) India Cyber Emergency Response
Team

(D) Cyber and Information System
Division

93. auel i ua 2l 1 W AN uaR oA
VAL SlsHigll wA wcie URiE 53\,

ALEL | A€l 11

a. SUWolld slaé) i. 1988

b. Qo] c2tasl ii. 2002
(uldoit) stagl

C. oitliell (ltGos 3oL iii. 2011
@Acuu staiél

d. cgluet cAlloR yReu  iv. 2013
sl2LEL

Q.S&l:
a bcod

(A iv i i il

B) i i iv iii

(€) i i i iv

(D) i iv i i

94. (Sl o3eldl welotell uelt Aol
B old sReuni 2l ol 2

(A) HUEL SIAEL G2

(B) cirellaL Aotates gl:t

(C) daust ARl eetHel st
(D) stAct3 81cl sl

95. euRcla WawR Yrauot Acelul
AlA6R Yeu Hizett yldeudll
UHoo, WAWR HRels sl uRg
U toll ¥R Mool Yreu
scll -l sl w2 A Asuniell 56
UL & WAUHER B ?

(A) AT 250llse Aot Udi6ol

(B) ACTA AR Mo Fost

(C) ekl WaAHR FHw{
Adlet A

(D) wanik A HRA yauell Slcfioset




.'

L

96.

97.

Arrange the following Committees which
were appointed on Panchayati Raj in
chronological order according to their
year of appointment. Select the correct
answer from the codes given below.

a. G. V. K. Rao Committee

b. Ashok Mehta Committee

c. L. M. Singhvi Committee

d. Balvant Rai Mehta Committee
Codes :

(A) a,b,d, c

(8) ¢c,a,d,b

(C) d,b,a,c

(D) b,d,c,a

Which of the following statements about

social audit is not true ?

(A) Social audit is a form of citizen
participation with a focus on

government performance
(B) Social audit is a dynamic process

(C) Social audit is a tool to improve an
organisation’s ethical performance

(D) Social audit is also known as

jansunwai
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98. Which of the following statements about
NITI Aayog is true ?

(A) NITI Aayog consists of Prime Minister,
Chief Ministers of all States, Union
Cabinet Ministers in-charge of
identified Ministries and Chaitpersons
of SC/ST/OBC Commissions

(B) Research Wing, Consultancy
Wing and Team India Wing are
the Specialized Wings of the NITI
Aayog

(C) Chief Executive Officer of the NITI
Aayoqg is appointed by the Lok Sabha

(D) Ali states are mandated to submit their
development plans to NiTI Aayog

. Which of the following statements is not
true with regard to the Central Information
Commission ?

{A) ltcan order an enquiry into any matter
if there are reasonable grounds

(B) It has the power of seeking
compliance of its decisions from
the public authority

(C) ltcanissue orders to political parties
to provide information sought by the
applicants

(D) It has the power of acting as a civil
court in designated matters

100. The Lokayukta and Uplokayukia Act was

first passed by
(A) Maharashtra
(C) West Bengal

(B) Kerala
(D) Odisha
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